

Trying for a baby?



www.dmu.ac.uk
**DE MONTFORT
UNIVERSITY**
LEICESTER • BEDFORD

Introduction

Infertility is a condition that affects many couples. It is defined as the inability to conceive after a year of regular, unprotected intercourse. There are many causes of infertility, and it can affect both men and women. In this document, we will explore the various causes of infertility and the different treatment options available.

Infertility – what is it?

Infertility is a condition that affects many couples. It is defined as the inability to conceive after a year of regular, unprotected intercourse.

For both partners:

• Discuss your fears about the possibility of having a child with a genetic condition. It is important to understand the risks and the options available to you. The geneticist will explain the risks of having a child with a genetic condition, and the options available to you. The geneticist will also discuss the risks of having a child with a genetic condition, and the options available to you.

What should we do if we are worried?

• If you are worried about the possibility of having a child with a genetic condition, it is important to discuss your concerns with your geneticist. The geneticist will explain the risks and the options available to you. The geneticist will also discuss the risks of having a child with a genetic condition, and the options available to you.

What tests might we need to have?

Tests will involve both partners and may include:

For the female:

- A blood test to check for the presence of the gene for the condition.
- A blood test to check for the presence of the gene for the condition.
- A blood test to check for the presence of the gene for the condition.
- A blood test to check for the presence of the gene for the condition.

For the male:

- A blood test to check for the presence of the gene for the condition.

What treatments are there for infertility?

Things to consider

For a function $f: A \rightarrow B$, we define $f^{-1}(b) = \{a \in A \mid f(a) = b\}$. This is called the **preimage** of b . Note that $f^{-1}(b)$ is a subset of A , not a single element of A .

Let $f: A \rightarrow B$ be a function. For any subset $S \subseteq A$, we define $f(S) = \{f(a) \mid a \in S\}$. This is called the **image** of S . For any subset $T \subseteq B$, we define $f^{-1}(T) = \{a \in A \mid f(a) \in T\}$. This is called the **preimage** of T .

Let $f: A \rightarrow B$ be a function. For any subset $S \subseteq A$, we have $f(f^{-1}(f(S))) \subseteq S$. For any subset $T \subseteq B$, we have $f^{-1}(f(f^{-1}(T))) = f^{-1}(T)$.

Let $f: A \rightarrow B$ be a function. For any subset $S \subseteq A$, we have $f(S) = \emptyset$ if and only if $S = \emptyset$. For any subset $T \subseteq B$, we have $f^{-1}(T) = \emptyset$ if and only if $T = \emptyset$.

For any function $f: A \rightarrow B$, we have $f^{-1}(f(S)) \supseteq S$ for any subset $S \subseteq A$.

Alcohol

→ $f(x) = \frac{1}{x}$

→ $f(x) = \frac{1}{x^2}$

→ $f(x) = \frac{1}{x^3}$ → $f'(x) = -\frac{3}{x^4}$ → $f''(x) = \frac{12}{x^5}$ → $f'''(x) = -\frac{60}{x^6}$ → $f^{(4)}(x) = \frac{360}{x^7}$ → $f^{(5)}(x) = -\frac{2520}{x^8}$ → $f^{(6)}(x) = \frac{15120}{x^9}$ → $f^{(7)}(x) = -\frac{105840}{x^{10}}$ → $f^{(8)}(x) = \frac{846720}{x^{11}}$ → $f^{(9)}(x) = -\frac{7620480}{x^{12}}$ → $f^{(10)}(x) = \frac{76204800}{x^{13}}$

→ $f(x) = \frac{1}{x^3}$

→ $f(x) = \frac{1}{x^4}$

→ $f(x) = \frac{1}{x^5}$ → $f'(x) = -\frac{5}{x^6}$ → $f''(x) = \frac{30}{x^7}$ → $f'''(x) = -\frac{210}{x^8}$ → $f^{(4)}(x) = \frac{1680}{x^9}$ → $f^{(5)}(x) = -\frac{15120}{x^{10}}$ → $f^{(6)}(x) = \frac{151200}{x^{11}}$ → $f^{(7)}(x) = -\frac{1512000}{x^{12}}$ → $f^{(8)}(x) = \frac{15120000}{x^{13}}$ → $f^{(9)}(x) = -\frac{151200000}{x^{14}}$ → $f^{(10)}(x) = \frac{1512000000}{x^{15}}$

Books

→ $f(x) = \frac{1}{x^2}$ → $f'(x) = -\frac{2}{x^3}$ → $f''(x) = \frac{6}{x^4}$ → $f'''(x) = -\frac{24}{x^5}$ → $f^{(4)}(x) = \frac{120}{x^6}$ → $f^{(5)}(x) = -\frac{720}{x^7}$ → $f^{(6)}(x) = \frac{5040}{x^8}$ → $f^{(7)}(x) = -\frac{35280}{x^9}$ → $f^{(8)}(x) = \frac{282240}{x^{10}}$ → $f^{(9)}(x) = -\frac{2257920}{x^{11}}$ → $f^{(10)}(x) = \frac{18063360}{x^{12}}$ → $f^{(11)}(x) = -\frac{144506880}{x^{13}}$ → $f^{(12)}(x) = \frac{1156055040}{x^{14}}$ → $f^{(13)}(x) = -\frac{9248440320}{x^{15}}$ → $f^{(14)}(x) = \frac{73987522560}{x^{16}}$ → $f^{(15)}(x) = -\frac{591900180480}{x^{17}}$ → $f^{(16)}(x) = \frac{4735201443840}{x^{18}}$ → $f^{(17)}(x) = -\frac{37881611550720}{x^{19}}$ → $f^{(18)}(x) = \frac{303052892405760}{x^{20}}$ → $f^{(19)}(x) = -\frac{2424423139246080}{x^{21}}$ → $f^{(20)}(x) = \frac{19395385113968640}{x^{22}}$ → $f^{(21)}(x) = -\frac{155163080911749120}{x^{23}}$ → $f^{(22)}(x) = \frac{1241304647293992960}{x^{24}}$ → $f^{(23)}(x) = -\frac{9930437178351943040}{x^{25}}$ → $f^{(24)}(x) = \frac{79443497426815544320}{x^{26}}$ → $f^{(25)}(x) = -\frac{635547979414524354560}{x^{27}}$ → $f^{(26)}(x) = \frac{5084383835316194836480}{x^{28}}$ → $f^{(27)}(x) = -\frac{40675070682529558691840}{x^{29}}$ → $f^{(28)}(x) = \frac{325400565460236469534720}{x^{30}}$ → $f^{(29)}(x) = -\frac{2599204523681891756277760}{x^{31}}$ → $f^{(30)}(x) = \frac{20793636189455134050222080}{x^{32}}$ → $f^{(31)}(x) = -\frac{166349090315641072401776640}{x^{33}}$ → $f^{(32)}(x) = \frac{1330792722525128579214213120}{x^{34}}$ → $f^{(33)}(x) = -\frac{10646341780201028633713702400}{x^{35}}$ → $f^{(34)}(x) = \frac{85170734241608229070710016000}{x^{36}}$ → $f^{(35)}(x) = -\frac{681365873932865832565680128000}{x^{37}}$ → $f^{(36)}(x) = \frac{5450927001462926660525441024000}{x^{38}}$ → $f^{(37)}(x) = -\frac{43607416011703413284203528192000}{x^{39}}$ → $f^{(38)}(x) = \frac{3488593280936273062736282255360000}{x^{40}}$ → $f^{(39)}(x) = -\frac{27908746247490184501890258042240000}{x^{41}}$ → $f^{(40)}(x) = \frac{22327001000000000000000000000000000}{x^{42}}$

→ $f(x) = \frac{1}{x^3}$ → $f'(x) = -\frac{3}{x^4}$ → $f''(x) = \frac{12}{x^5}$ → $f'''(x) = -\frac{60}{x^6}$ → $f^{(4)}(x) = \frac{360}{x^7}$ → $f^{(5)}(x) = -\frac{2520}{x^8}$ → $f^{(6)}(x) = \frac{15120}{x^9}$ → $f^{(7)}(x) = -\frac{105840}{x^{10}}$ → $f^{(8)}(x) = \frac{846720}{x^{11}}$ → $f^{(9)}(x) = -\frac{7620480}{x^{12}}$ → $f^{(10)}(x) = \frac{76204800}{x^{13}}$ → $f^{(11)}(x) = -\frac{762048000}{x^{14}}$ → $f^{(12)}(x) = \frac{7620480000}{x^{15}}$ → $f^{(13)}(x) = -\frac{76204800000}{x^{16}}$ → $f^{(14)}(x) = \frac{762048000000}{x^{17}}$ → $f^{(15)}(x) = -\frac{7620480000000}{x^{18}}$ → $f^{(16)}(x) = \frac{76204800000000}{x^{19}}$ → $f^{(17)}(x) = -\frac{762048000000000}{x^{20}}$ → $f^{(18)}(x) = \frac{7620480000000000}{x^{21}}$ → $f^{(19)}(x) = -\frac{76204800000000000}{x^{22}}$ → $f^{(20)}(x) = \frac{762048000000000000}{x^{23}}$ → $f^{(21)}(x) = -\frac{7620480000000000000}{x^{24}}$ → $f^{(22)}(x) = \frac{76204800000000000000}{x^{25}}$ → $f^{(23)}(x) = -\frac{762048000000000000000}{x^{26}}$ → $f^{(24)}(x) = \frac{7620480000000000000000}{x^{27}}$ → $f^{(25)}(x) = -\frac{76204800000000000000000}{x^{28}}$ → $f^{(26)}(x) = \frac{762048000000000000000000}{x^{29}}$ → $f^{(27)}(x) = -\frac{7620480000000000000000000}{x^{30}}$ → $f^{(28)}(x) = \frac{76204800000000000000000000}{x^{31}}$ → $f^{(29)}(x) = -\frac{762048000000000000000000000}{x^{32}}$ → $f^{(30)}(x) = \frac{7620480000000000000000000000}{x^{33}}$ → $f^{(31)}(x) = -\frac{76204800000000000000000000000}{x^{34}}$ → $f^{(32)}(x) = \frac{762048000000000000000000000000}{x^{35}}$ → $f^{(33)}(x) = -\frac{7620480000000000000000000000000}{x^{36}}$ → $f^{(34)}(x) = \frac{76204800000000000000000000000000}{x^{37}}$ → $f^{(35)}(x) = -\frac{762048000000000000000000000000000}{x^{38}}$ → $f^{(36)}(x) = \frac{7620480000000000000000000000000000}{x^{39}}$ → $f^{(37)}(x) = -\frac{76204800000000000000000000000000000}{x^{40}}$ → $f^{(38)}(x) = \frac{762048000000000000000000000000000000}{x^{41}}$ → $f^{(39)}(x) = -\frac{7620480000000000000000000000000000000}{x^{42}}$ → $f^{(40)}(x) = \frac{76204800000000000000000000000000000000}{x^{43}}$ → $f^{(41)}(x) = -\frac{762048000000000000000000000000000000000}{x^{44}}$ → $f^{(42)}(x) = \frac{7620480000000000000000000000000000000000}{x^{45}}$ → $f^{(43)}(x) = -\frac{76204800000000000000000000000000000000000}{x^{46}}$ → $f^{(44)}(x) = \frac{762048000000000000000000000000000000000000}{x^{47}}$ → $f^{(45)}(x) = -\frac{7620480000000000000000000000000000000000000}{x^{48}}$ → $f^{(46)}(x) = \frac{76204800000000000000000000000000000000000000}{x^{49}}$ → $f^{(47)}(x) = -\frac{762048000000000000000000000000000000000000000}{x^{50}}$ → $f^{(48)}(x) = \frac{76204800}{x^{51}}$ → $f^{(49)}(x) = -\frac{762048000}{x^{52}}$ → $f^{(50)}(x) = \frac{76204800}{x^{53}}$ → $f^{(51)}(x) = -\frac{762048000}{x^{54}}$ → $f^{(52)}(x) = \frac{76204800}{x^{55}}$ → $f^{(53)}(x) = -\frac{762048000}{x^{56}}$ → $f^{(54)}(x) = \frac{76204800}{x^{57}}$ → $f^{(55)}(x) = -\frac{762048000}{x^{58}}$ → $f^{(56)}(x) = \frac{76204800}{x^{59}}$ → $f^{(57)}(x) = -\frac{762048000}{x^{60}}$ → $f^{(58)}(x) = \frac{76204800}{x^{61}}$ → $f^{(59)}(x) = -\frac{762048000}{x^{62}}$ → $f^{(60)}(x) = \frac{76204800}{x^{63}}$ → $f^{(61)}(x) = -\frac{762048000}{x^{64}}$ → $f^{(62)}(x) = \frac{76204800}{x^{65}}$ → $f^{(63)}(x) = -\frac{762048000}{x^{66}}$ → $f^{(64)}(x) = \frac{76204800}{x^{67}}$ → $f^{(65)}(x) = -\frac{762048000}{x^{68}}$ → $f^{(66)}(x) = \frac{76204800}{x^{69}}$ → $f^{(67)}(x) = -\frac{762048000}{x^{70}}$ → $f^{(68)}(x) = \frac{76204800}{x^{71}}$ → $f^{(69)}(x) = -\frac{762048000}{x^{72}}$ → $f^{(70)}(x) = \frac{76204800}{x^{73}}$ → $f^{(71)}(x) = -\frac{762048000}{x^{74}}$ → $f^{(72)}(x) = \frac{76204800}{x^{75}}$ → $f^{(73)}(x) = -\frac{762048000}{x^{76}}$ → $f^{(74)}(x) = \frac{76204800}{x^{77}}$ → $f^{(75)}(x) = -\frac{762048000}{x^{78}}$ → $f^{(76)}(x) = \frac{76204800}{x^{79}}$ → $f^{(77)}(x) = -\frac{762048000}{x^{80}}$ → $f^{(78)}(x) = \frac{76204800}{x^{81}}$ → $f^{(79)}(x) = -\frac{762048000}{x^{82}}$ → $f^{(80)}(x) = \frac{76204800}{x^{83}}$ → $f^{(81)}(x) = -\frac{762048000}{x^{84}}$ → $f^{(82)}(x) = \frac{76204800}{x^{85}}$ → $f^{(83)}(x) = -\frac{762048000}{x^{86}}$ → $f^{(84)}(x) = \frac{762048000}{x^{87}}$ → $f^{(85)}(x) = -\frac{76204800}{x^{88}}$ → $f^{(86)}(x) = \frac{762048000}{x^{89}}$ → $f^{(87)}(x) = -\frac{762048000}{x^{90}}$ → $f^{(88)}(x) = \frac{762048000}{x^{91}}$ → $f^{(89)}(x) = -\frac{76204800}{x^{92}}$ → $f^{(90)}(x) = \frac{762048000}{x^{93}}$ → $f^{(91)}(x) = -\frac{762048000}{x^{94}}$ → $f^{(92)}(x) = \frac{762048000}{x^{95}}$ → $f^{(93)}(x) = -\frac{762048000}{x^{96}}$ → $f^{(94)}(x) = \frac{762048000}{x^{97}}$ → $f^{(95)}(x) = -\frac{762048000}{x^{98}}$ → $f^{(96)}(x) = \frac{762048000}{x^{99}}$ → $f^{(97)}(x) = -\frac{762048000}{x^{100}}$



www.dmu.ac.uk

DMU
UNIVERSITY
LEICESTER • BEDFORD